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Key Features of Logarithms
Where is the asymptote for log functions? What is the end behavuor around the asymptotes?
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What is true about the domain and range of inverse functions?
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Ex #2: Identify the asymptote, graph the function, then state the domain and range.

= |
(zn,"

)

a) f(x)= 2(logxx—6\1 !b) ) 110g(x—5)+14\ ) f(x)—-l
t l(to, ‘) r? |
| (14:0.) ' 1@ 1O>
(2502 : chy )
n | ' Jir
' / — “"//‘? (oq )
| X : =S r 'I %= ot e
o ot B Drioys) , D :(00) .Cl | 0‘7
22(~OO,00) TP_.( 00, 0) , P (00 ,02) iz, E_)
% WY _ N7 |
d) FGx)= 3 logs(x+4>—34, f(x)=2'i'ptg5(x—'ﬁx) f) fG)= /—\fg(x 2
1 X= "'{ r |
; D(‘L‘;OO) : | i 3
e (-ey) | TR | |
e | B B Eam e
'(/ D (ee) || L X R |
1 \Q'-(“ﬁ’/"‘ﬁ | Ly : D (‘ ‘ ))§
DR RS

A46: Change of Base and Graphing Logs Worksheet



